PERFORMANCE PRODUCTS

RUNSEASRI DR IERAAND),

052 vy 2 TTEETRET]

ANF ZX-ANF X
BXrL—F

m E | ANYIX | i &
R981503 3 ¥500
R981504 4 ¥500
R981506 6 ¥500
R981508 8 ¥600
R981510 10 ¥700

W 90°

m ANHAX | I &
R982103 3 ¥1,500
R982104 4 ¥1,500
R982106 6 ¥1,500
R982108 8 ¥2,000

. ANHA X

= & 9L fm =
R991906 | 4 | 6 ¥800
R991912 | 6 | 8 | ¥1,200
R991914 | 6 | 10 | ¥1,700
R991915 | 8 | 10 | ¥1,700

052 vy 2 TTEETRE ]

ANAZX-ANAX

WX LL—F
& % | ANYAX | @
R915103 3 ¥1,200
R915104 4 ¥1,200
R915106 6 ¥1,200
R915108 8 ¥1,400
R915110 10 ¥1,900

Mo 74—%
% | ANUYMX | i %
R934103 3 ¥2,300
R934104 4 ¥2,300
R934106 6 ¥2,300

MAIL ORDER KINOKUNI TEL 0736-62-6355 FAX 0736-62-8122
https://www.kinokuni-e.com

NS5—:

/L

P2.388

052 vy 2 TR

ANF Z-ANX R
W 45°
[ % & [ANYAX [ fli 18
D R924104 4 ¥2,500
| R924106 6 ¥2,800
P R924108 8 ¥3,000
W 90°
B & | ANYAX | ffi &
R921103 3 ¥2,500
R921104 4 ¥2,500
R921106 6 ¥2,800
R921108 8 ¥3,000
R921110 10 ¥4,700

| SNy~ > 2> —3

AN3 A

B AN F X -AN #* X -AN # X

O 7y A y e ¥ BT 5T 5~

BAN XX -ANAX(FAL Y b EAT) =K

ANHAX

@ & XZ8 | # 2| fii &
RO89046 | 4 6 | ¥1,600
R989068 | 6 8 | ¥1,900
R989080 | 8 10 | ¥2,200
@PRI8I102 | 10 | 12 | ¥2,600
{PRI8I126 | 12 | 16 | ¥3,000

=

MDA BAE LBR M TY
BHIARHCRRHBBEE R URIET,

mm & | ANYAX | i &
R982403 3 ¥1,700
R982404 4 ¥1,700
R982406 6 ¥1,700
R982408 8 ¥2,100
Bl AN X X -AN # X -AN # X
fm & | ANUAX | i &
R926106 6 ¥3,300
B AN # X -AN X X -AN # X
f & | ANYAX | fli %
R925106 6 ¥3,300
BMAN XX -ANF X (1LY b FAT) K=
o ANHAX
e S
R9892043 | 4 3 | ¥1,800
R9892064 | 6 4 | ¥1,800
R9892086 | 8 6 | ¥2,000
R9892106 | 10 | 6 | ¥2,500
R9892108 | 10 | 8 | ¥2,500
#MR9892120 | 12 | 10 | ¥3,900
™ R9892162 | 16 | 12 | ¥5,300




MAIL ORDER KINOKUNI TEL 0736-62-6355 FAX 0736-62-8122
https://www.kinokuni-e.com

PERFORMANCE PRODUCTS

Ww OM 4”4” @@ @w/ﬁ HS5—: P2, 38R
O35> v R e Y (SIS 2l —3 /4

ANF ZX-ZRL—b 2D ANF1—T IR
EFEE BF2-7Fvk
B F | gor| 2oy | B B @ B M
R991961 | 4 | M10X1.0 | ¥1,400 R581803| 3 |3/16| 4.8 | 2 | ¥400
R991962 | 4 | M10x1.25| ¥1,400 R581804| 4 | 1/4| 6.4 | 2 | ¥400
RO91963 | 4 | MI0X15 | ¥1.400 R581806| 6 [5/16| 7.9 | 2 | ¥400
RO91963| 2 | M12x1.0 | ¥1.400 R581806| 6 | 3/8| 95| 2 | ¥400
Ro91965 | 2 | Mi2x1.25| ¥1.400 R981808| 8 | 1/2 127 | 1 | ¥400
R981810| 10| 5/8 159 | 1 | ¥500
R991966 | 4 | M12x1.5 | ¥1,400
R991968| 4 |M14x15 | ¥1,400 | WF2-T2U-T _
R991938 | 4 | M16X15 | ¥1,400 | % B o
R991939 | 4 | M18x15 | ¥1.400 ‘ o R581903| 3 3/16] 4.8 | 2 | ¥400
R991953 | 6 | M10X1.0 | ¥1,400 R581904| 4 | 1/4| 6.4 | 2 | ¥400
R991971 | 6 | M10x1.25| ¥1,400 R581956| 6 [5/16| 7.9 | 2 | ¥400
R991972 | 6 | M10x1.5 | ¥1,400 R581906| 6 | 3/8 | 95 | 2 | ¥400
R991973 | 6 | M12x1.0 | ¥1,400 R981908 | 8 | 1/2 (127 | 1 | ¥300
RO91945 | 6 | M12x125| ¥1,400 R981910| 10| 5/8 159 | 1 | ¥300
wovtoas 6 ioets | Y100
R991977 | 6 | M14x15 | ¥1,400
R991978 | 6 | M16X15 | ¥1,400 ‘57-7‘772W
R991979 | 6 | M18x1.5 | ¥1,400 NIVIANYR&F b
R991974 | 6 | M22x1.5 | ¥1,800 Wk
R991981 | 8 | M12x15 | ¥1,600 & B ANHAZ] 159y | AR
RO91982 | 8 |M14x15 | ¥1,600 5392808 3 2 | ¥400
R991983| 8 | M16x15 | ¥1,600 - R992404| 4 2| ¥400
R991984 | 8 | M18x15 | ¥1,600 RO924061 O 2 ¥400
d R992408 | 8 1 ¥400
R991997 | 8 | M22x15 | ¥1,800 el 10 ] Y400
R991986 | 10 | M14x1.5 | ¥1,800
R991987 | 10 | M16X1.5 | ¥1,800 BMANFZ-ANAZR 2 b l’n_ b _
R991988 | 10 | M18x1.5 | ¥1,800 B o ANYAX (e
R991990 | 10 | M22x1.5 | ¥1,800 R989203 3 ¥800
d R983204 4 ¥800
KERTyor—1F R983206 6 ¥800
R983208 8 ¥1,400
R983210 10 ¥2,000

®7yov—HRIE P195 22 BLTTEL,

Ml AN # X -AN # X 90°

m & ANHAZ fii 1%
R983306 6 ¥1,700
% R983308 8 ¥2,500
7yl r—4EIE P195 B BLTT A,

1

MFRROA GG ABIR M TY
BRI AR BEBEE R LRIET,





